
Ladder Components Qty
A)  Handrails 2
B)  Platform 1
C)  Adjustable Support Feet 2
D) Outside Ladder Body 1
E)  Ladder Foot Extension 1
G)  Adjustable Support Tube 2
H)  Support Tube Base 1
I)   Ladder Secure Straps 2

Hardware Kit (not shown) Qty
J) 3/8” x 4” Carriage Bolt 4
K) 3/8” Hex Nut 4
L) 3/8” Flat Washer 4
M) #14 x 3/4” Tapping Screw 6
P) 1/4” x 2-1/4” Phillips Head Bolt 2
Q) 1/4” Acorn Nut 2
R) 1/4” Flat Washer 2
S) 1” Pan Head Screw 8
T)   Lock Cable 1

SAFETY INSTRUCTIONS:
• Install ladder per manufacturer’s instructions.
• Locate ladder on a solid base.
• Ladder is designed for use by one person at a time.
• This ladder is intended for use as a swimming pool ladder only.
• Face ladder when entering and exiting the pool.
• No jumping, no diving from ladder.
• Do not swim through, behind or around the ladder or step system.

Model #200700T

SMART CHOICE LADDER
ASSEMBLY INSTRUCTIONS

S T E P  BY  S T E P  A S S E M B LY  I N S T R U C T I O N S

For use with Model # 200740T (Comfort Incline) / #200600T (Smart Step) / 200400T (Easy Entry Step)

Supplies Required: Phillips screwdriver or bit,
drill, 1/8” bit, tape measure, 7/16”and 9/16”
sockets, box or open end wrenches, padlock.

Note: Before you begin the assembly of your
ladder/step, please insure you have all components
and hardware.

Note: Contact our customer service department to
request any missing or damaged parts or hardware
at 888-333-1134.

Step 1 Platform and Handrail Assembly
Locate the Left and Right Handrail Assemblies (A) and the Platform (B). Secure the Handrail
Assemblies (A) to the Platform (B) by snapping them over the tabs on the platform.

Step 2 Adjustable Support Feet Preparation
Insert the Adjustable Support Feet (C) into the Handrail Assembly sockets as shown in the diagram.
DO NOT INSERT HARDWARE AT THIS TIME.

Step 3 Platform Support Tubes
Locate the Support Tube sockets on the underside of the Platform (B) and insert one end of each
Support Tube. Place the Support Tube Base (H) on the ground and insert other end of Adjustable
Support Tube (G) in Support Tube Base (H).  DO NOT SECURE WITH HARDWARE AT THIS TIME.

continued on other side

A

B

C

D

E

G

H

Shown with Smart Step System
#200100T (200700T/200600T)

Shown with
Easy Entry System

#200800T
(200700T/200400T)

Shown with
Comfort Incline
(200700T/200740T)



1004 Jaycox Road • Avon, Ohio 44011
888-333-1134

Step 5 Cut to Fit
Depending upon pool wall height, it may be necessary to cut the Adjustable Support Feet (C) or the Comfort Incline Extensions
if using model 200740T. At this time the Adjustable Support Tubes (G) may also need to be cut. The Platform (B) must be flat
and level over the pool top rail. Measure from the underside of the Platform (B) to the ground. Compare with the distance from
the pool bottom to the surface of the top rail. The Platform (B) should be flat and level on the pool top rail. Remove Ladder
Handrail Assembly (A) from secured Adjustable Support Feet (C) if using Model 200600T or 200400T.

Step 6 Position Step or Ladder in the Pool & Ladder Assembly in Final Position
Position the inpool step in the final desired position and weight down as per the step instructions. Position the ladder assembly
over the pool wall and confirm the Platform (B) is flat and level over the pool wall. Secure the Adjustable Support Feet (C) or
the Comfort Incline (200740T) to the Handrail Assembly (A) using two (2) 2-1/4" Phillips Head Bolts (P), 1/4" Flat Washers (R )
and 1/4" Acorn Nuts (Q).

Step 7 Secure Assembly to Pool Top Rail
Using the Ladder Secure Straps (I), begin inserting one of the straps as shown in Fig. 3 below. Continue to weave the strap as
shown in Fig. 4. With Platform (B) flat and level to the pool top rail, feed the end of the strap under the pool top rail and secure
it to the clasp on the other end of the strap as shown in Fig. 5. Pull tight and repeat with other Ladder Secure Strap (I).

Step 8 Apply Hardware to Support Tubes
After confirming secure fit of Adjustable Support Feet (C) and Adjustable Support Tubes (G); secure Adjustable Support Tubes
(G) to Platform (B) using two (2) #14 x 3/4" Tapping Screws (M) and to the Support Tube Base (H) using four (4) #14 x 3/4"
Tapping Screws (M).

Step 9 Outside Ladder Body
Secure the Ladder Foot Extension (E) to the Outside Ladder Body (D) using four (4) 3/8” x 4" Carriage Bolts (J), 3/8" Flat Washers
(L) and 3/8" Hex Nuts (K).  Adjust to fit your pool height. It is recommended to position a patio block under the Ladder Foot
Extension (E) for support.

Step 10 Lift-N-Lock Outside Ladder Body
When your entry system is not in use, swing up and remove the Outside Ladder Body (D). Lift the Outside Ladder Body (D) and
Foot Extension Assembly (E) so that you can position the tabs on the Ladder Foot Extension (E) onto the hooks of the Platform
(B) as shown in Fig. 6. Then snap the tabs on the sides of the Outside Ladder Body (D) into the slots on the outside of the
Handrails (A) as shown in Fig. 7.

Fig. 1 Fig. 2

Fig. 3 Fig. 4 Fig. 5

Fig. 6 Fig. 7

NOTE: The Lock Cable (T) is included which can be
used to lock your Outside Ladder Assembly in the

Lift-N-Lock position. Padlock not included.

REV 020111

Step 4 Secure the Adjustable Support Feet
Position the in-pool step and the ladder assembly as shown
in Fig.1 below. Secure the Adjustable Support Feet (C) to the
top step using eight (8) 1" Pan Head screws (S), one in each
corner of each Adjustable Support Foot (C) (Fig. 2). Screw
positions are noted by notches in the Adjustable Support Foot
(C). DO NOT SECURE ADJUSTABLE SUPPORT FEET TO
HANDRAIL ASSEMBLY AT THIS TIME.

If using 200600T/200400T If using 200700T/200740T
OR

Step 4 Secure Comfort Incline
Insert the body of the Comfort Incline 200740T into the
Handrails (A).

Adjust so the bottom of the Comfort Incline will rest flat
on the bottom of the pool. The Platform (B) should rest
flat and level directly on the pool top rail.


